Foundation of Algebra

Name: //{n
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Unit 6 Date: F b Block: _
7
Systems of Equations and Inequalities Unit Réiriew
What you need Things to remember Examples
o know & be
able to do

1. Solve a system
of linear
equations by
graphing.

Make sure each
equation is solved
fory.

Graph both
equations and find
where they
intersect.

1. Solve the system.

y=2x+3
y=2x-5
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2. Solve the system.
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y =X+
(4,4)
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3. Solve fhe;ﬁ(siem of equations.

4. Solve the system of equations.

x y=x-4 Y= —X
0 -4 0
1 -3 -1
2 -2 -2
3 1 -3

(42\:&)

2

X y=gx =wx—7
-10 -4 3

-5 -2 -2

0 0 -7

5

(5-2)

2. Solve a system

of linear
equations using
substitution.

Use only when one
variable isolated

5. Solve the system.

10x — 7y4= —18

10X -7(-5%+9) =1

\OX +35y -3 =-18
4By -B=-18
FW3  Hod
U5x =45
B — -@Q) +9

-

<
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6. Solve the system.

y=-8x-16
y=3x—-5

~Ry-itf= 35
8X+|M(ﬁ tlb

- 8 = 3%+
-3x DX
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3. Solve a system
of linear
=quations using
elimination.

To eliminate a
variable using
addition or
multiplication one
coefficient must be
positive and onée
must be negative.

7. Solve the system.

x—y=11
+2x+y=19
3x =30

8. Solve the system

- x+2y=-§0
3 gy = 20

10y = -10
0710

Yy ¥ 2(-1)="30

— -yy-L-= -30
2950 T
Jﬁ:‘.‘_—} 'jﬂ)i: -28
N T
ﬁ(lD,"\) (71"|)
9. Solve the system. 'TO.'SoIve 'rhessysfgm .
x+3y=12 2 i Gy D
5(5Xx yy la)ab‘;\f ‘5(—2x—10y=14)_

4, Special Types
of Systems

No Solution:
e False
Equations
e Slopesare
the same
e Y-intercepts
are different
e Paradllel Lines

Infinite Solutions:
e True

Equaticons

e Equations

e Oneline

are the same

12. Solve ihe system:

9x—3y=-18 -18
3(3x+§ 6)“?&3’3_11@
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Determine if slope
intercept or
standard form is best

Set up your
eqguations and solve
using elimination or
substitution.

Break Even Point:
where the cost
equal the income

3. Systems with i -
Real World a?:i'gglgsour L%S%nssglgq speed internet provider | 14. Sam spent $24.75 to buy 12
Scenarios set up fee and costs $30 | flowers for his mother. Roses cost

permonth. Another provider has no
set up fee and costs $40 per month.
In how many months will both

providers costs the same2 What will
that cost be?

V= 30x¢50 = HOK

40x = 30Kt 90
:_51)5__;%!%—-

g

X=H meodhsy
\= 40l9)= %200
Al B mondno, toth
errpanies Wil ceat 3200,

$2.50 each and daisies costs $1.75
each. How many of each flower

type did he purchase?
A1 rogeS \ ¢ oaroled

-

LD+ 1T

- 05

Sam gur chaal - 7

dawies and 9 ydea--
for hw wlenre

2415 18X +125y= 44
- Tpy=75.2%

-7
y =7 dey
= O 1o

290X + 7'17; [2) -250k-2543

15. Explain what a break-even point

L (ota = Teoma

What will the income and cost
always be at the break-even point?

e Samne aurusunt

What is the profit at the break-even

point? ﬁ 0

16. As a fundraiser for a band trip,
AHS plans to sell hats with the school
logo. The company producing the
hats charges $240 for the design and
set up plus $8 per hat. The band
members will sell the hats for $12
each. What is the break-even point?
What will the cost and income be?

CeRk: Y= 8 r240
InCorve”, \( =124

% 0F Yiaxd {
. gxr240 =R

[Y=u0Jat |

6. Graph a linear
inequality

nt v b0

=7

break ever? :
%’ and_In(ome/Cets {150 {74-
: . 7x=5y2-20 n Ty
Make sure equation | 17 Graph y> _é xs1 lodhedl 18'_7{ % 24)(,___ +* 8’161
is solved for y E above T X-20
Graph the line AV R4 WD ARV - < -;5' i id
/II ’//nv:'/‘/;’/ " qﬁ 7{+'~l %
Determine if dashed A 1 A Y NN 0\
or solid SECEREL e v  BENNRLE
3 1% 7\ \ \‘ [ NEAY
Determine whether | *g k|- ? = IEYIVATAVAN
to shade below or ARNN
above the line ;.b‘ : b
I T L B LN
W NI
*Golden Rule of B W
|neqluci1|]ﬁes can A\ \\ : AR INT
a ere. 4 \ 3 \\
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MMM t~\1|“ Lak—
ik IR
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7. Solve a system
of linear

Determine if you
have a solid or

19. Solve the system. Label the
different regions as solution or

20. Solve the system. Label the
different regions as solution or not

Systems

*Y-intercept
*Type of Line
*Shading

mz 2 Yz yl_“'?j

qwﬁ -5

inequalities by dashed line not a solution. a solution.
graphing.
Then determine 0y <-3x+2 cx+ty>4 ﬂ>'é1’q
whether to shade ey2x—1 ey>x-1
above or below. 1 718F N
/\/ N ‘\ /, \\\\\\' 2, ¥l \ o 4
Find the region 4 \ ! )4 : \\\ NN AW
- "\ \ y s ” 5 -
where the shading FIRIYN ﬁl{—\\ 94 L ONNN \4& E7iG
overlapped. 2NN N4 NS X
q b N N N ANNNPGER
- By - cd
d, ‘ I L) J_ = \ 4 i ~17
v :_ hl A Y NN 3
i /1 71 ["a) N O T
"IN A N\ N1z
QNN NEA . N
NN AL L i NN
4 "1 % * \" L]
8. Real World 21. Write a sysiem to describe: 22. Write a system to describe:
with Systems of The maxinTom capacity for an Megan is selling tickets to Allatoona's
Inequadlities elevator is 15 people and 3000 production of Footlooge. Allatoona's
pounds. Itis estimated that adults theater holds at most 700 people.
weight 200 pounds and children Children's tickets are $6.00 and adult
under 16 weight 100 pounds. tickets are $10.00. She hopes to sell
X , O.CLM-QM 7 at legst $500 worth of tickets.
Y Culdrens X: c,YuldJ/(’.hS hoet
X+y£15 .
£ 3000 s
200% +1 y (91 +10y 2
9. Maming Linear | Identify: 23. Name the mequchty _?me the system of inequailities.
Inequalities and | *Slope l‘

gﬂ‘ 9 2}4 ﬂ* \
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Mulﬂple Choice Practice - 25:( F 9
25. Taxi Company A charges $4 glus $0‘5(€ per mile. Taxi Company B Chorg;{as $5 plus $0.25 per mile. Which
system best represents this problem?

)" Y=4x+05 o) Y=4x+025
S~ Y=5%x+0.25 Y=5x+0.5
@ Y=05x+4 (d) Y=05x+5
\,) Y=025x+5 Y=025+4

X r9
26. The Fun Guys game rental store charges an annual fee of $5 pll.z. $5. 5 per game rented. The Game
Bank charges an annual fee of $17 plus $2.50 per game. For how many game rentals will the cost be

the same at both stores? What is the coste Y =2.50% 17 2.50X- “7 5. 50)‘ *g
(@) Month-10;550 A: AL (b)  Month8:-580 g—-fgi tiz= _‘25 gg:
(€] Monthe:rs80 | ||z 27 (@)  Month-H:550 3
- =2
'5' 3
4x -4 16 )] K =
X =- "
Solve the system of equc:’uons ( 2y)f- 1 2) ‘;l}( - {1 Zlq “( le .-_—
— ﬂ b
” 27( 6 -7'-’ = .—] (0
Jor (6.4 AT (2.4 s A
QI(C)A} (4,8) (d)  (4.-8) (ﬂ" 8
28. 2X+y =3
Whigm_ point is a solution of the system: -
Tk soch o nk y 2 -2x+1
o (0.0) 023 False 4 (1,0) 223 False
{or” (0.1) 123 False @@ N zzTwe
| z-1 TR &
29.  Which system of inequalities best describes the ¥ ;),:
graph? r 3 Jl
S p
Jar y>-2 Jol y<-2 4 i
g YEWE] y>x+1 3 <
qc))y> (d) y<-2 ot
Ka/ y<x+] y<x+1 . _
[ :
EXE 2,49 1238 4 'l
‘«-—:»:L’-vnuﬁ—--n----»b’%?'?—
: 3
L4
- <
5
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30. The graph to the right shows the cost of two
phone plans. How many minutes does a person
) 3
need to call each month so that Plan B is the less FhioneLosts
expensive plan to use?
(@) Less than 10 minutes

Use the graph below to answer the question.

40 oo gl - APlan A

(b) Less than 40 minutes Plan B

- -‘{»_\
(CT) More than 40 minutes

('d) More than 30 minutes but less than 40 - >
minutes 0 20 40 60 80 100 120

Monthly Minutes

31. A student store sold a total of 55 shirts for $620. The shirts sold were either réd or w\r{\ite. If the red shirts
sold for $12 each and the white sold for $10 each, how many of each color shirt were sold?

xl'q 54 ’}2 —-wo R
(@) 20red, 35 whne'zmoq fleafl X HOU=1L20-(b) 27 red, 28 white
(c) 28red, 27 white jz_y " _L’O @ 35 red, 20 white
2- -~
y — lO wh ke

32. Consider each system of equations below. Just by locking at the equations, tell how many solutions the
system will have and explain why.

d.

1 3

=—Xx+5 =-x+2 .
q. [y=4x-3 Yt 4 ]X+ e Do
) y-—x+6

3
-3x_4
Y="%
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